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I xpmaregarding onbn 'nw that come unaccompanied — they are raised, then we let them “lose their form” and are burnt
a  challenge: either they may be eaten, in which case — eat them; or else they must be burnt — then burn them right away
b answerl (727): they ought to be eaten; but there is a precaution against the next year when there may be n>was

i in which case: the 210 will reason that the past year they offered without n’wa3, don’t need them now as pvynn
it proof: 1:X ©YPY — 01N3 don’t provide Ypwn n¥nn due to onYn 'nw (among others) which are eaten
1 note: this must be onYn 'nw brought alone; if brought with Max Mmb5w, should be eaten, as nan% nmn, offered by
DNy, are eaten (‘tho they should fall under stricture of 113 nnan which is not eaten — v. 1)
(a) Dblock (»ax): nmin’s loaves aren’t called nnin, onYn 'nw is called nnn (v. 2)
¢ answer2 (9o 27): they should be burnt, but aren’t as we don’t burn 07 on V"
i challenge (»ax): that only applies when it isn’t their mxn; here, the mx¥n is to burn them — should be done on V",
just as we burn 0’97110 019 on 2"V
d answer2 (9or 27 modified): precaution against case where they find lambs later
i challenge (2aX): if so, they should burn them after the no'nw jnr passes
1 defense: indeed — that’s what inm¥ 92190 means - change the usual pattern of performance
e answer3 (827): they should be eaten; precaution per n27’s concern (above); but not based on nwn, but on s
i proof: v. 2 refers to mnYn "Mw as D133; just as D121 are brought alone; so onn 'NY; and D M22::DNYN NV are eaten
I xm»7a - point of on%n V1P in NT2Y of W1
a 27 at nonw > if nv'nw and 1Mt were done 1nWY, onY is properly sanctified; if both done WY X5W, not VTP
i however: if nYNY was done 1PWY XYW but 7”771 was done PVY — “VITP 1R VITP”
1 »awitisisn’t fully v17p - if redeemed, the moneys are P5n
(a) in which case: dispute w”ar1/711 — if the bread is Y2 if it goes out of Ny after (proper) nomw
2 Naritis fully w17p, but may not be eaten by nnn3 - the redemption-moneys are nwyTpa vanl
(a) in which case: dispute v”ar1/271 — whether nn% becomes fully w11y at nvonw
b w7anT requires both nv'nw and 7”171 to be done properly - if either is done 1nw% X5, loaves are not w11p
i analysis: both infer from v. 4 (relationship of 11 X to loaves)
1 27 nwy refers to NVNWY; since it states nar nwY?, (NVNW=) Nn*ar is the act that sanctifies
2 w7anT. nwy refers to all of the nvwy (including 1"mr);
(a) and: he reads "nar” per 3Ny 71 — even W”ar1 agrees that there must be bread present at time of nvnw
C  question (NaN 72 871 0 pny? 1 92 58w 77): if nonw was done nnwH but 7771 not — may onb be eaten?
i clarification: cannot be according to w”arn (1”071 sanctifies); cannot be to »27 (X271 »aR agree — may not be eaten)
1 must be: dispute y™/8™ about nn%n 'nw that is R¥v after YNV, then 77171 was done %119 nawnna
(a) approaches: R™ - no NW9; Y™ - L0
2 solution: per *27; but 8" who holds (2:8 n%pn) RXVPY NHYIN NPT PR D NO NIWY; ™Y, RXVPY NN IPMT > L0
(a) so the question is: ™5, since Ny NPT to make 54 (even for R¥v); perhaps NWH XYW NP*T permits onY
3 challenge (97): perhaps dispute »"1/8" is in case the nnY was returned; but agree that while out, no»n np»r pr
(a) &7 would agree with »27 - nonw is yaip—>loaves are R¥Y; WaR:Y™ — 7771 is Y2p > loaves aren’t Ry
4 rejection: y™ must agree with »27 > np»1 is meaningful (after nv'NY was VTPN)
(a) backing: Y111 quoted 171 — 108 NPT doesn’t change N yn status of either 1”pTp or Y"p1p
(i) rejection: Y12 "’s quote of 11 is refuted (:a NY*yn)
d  question (8777 71 a8 72 207 79): if 1128 "YW were slaughtered 1wy, then the loaves were lost, may he do 7”071 inten-
tionally 1nw5 ®YW in order to permit the meat to be eaten?
i response: we have no precedent for something which is invalid nnw5 but valid nnw9 row
1 counter: noa on the 14t before midday is valid as D'n%w, invalid as noa
ii  modification: we have no precedent for something that was valid, became invalid but is valid nnw5 89w
1  counter: noa after the 14™ (invalid as noy, valid as nmHw)
iii  modification: we have no precedent for something which is fit, slaughtered properly and then only valid nnw% x5>»
1 counter: nTIn (as per above; if bread falls apart after nv'nw, do 7”071 for DN>W and meat is fit)
2 defense: "N is unique, insofar as the nn refers to it as mnow
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